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EHIetA 20213 02 =% X X|&E LHIA
2HEE T8 WY
= 2HE TE = H| 2
1 CMS 82 903,940
SHA| 903,940
SHE T WY
= AL SHEUE =2/EH dEgad | H2
=]
2H¥a A= WY
= | XE AE|[ A=Y =4 H| 2
1 [ 02.01 52,600 KT EAH|
2 || 02.08 2,500 2™ 22 (CMS)
3 22| 02.08 18,414 A= CMS
4 S aiH| 02.10 1,000 UMS $42
5 22| H| 02.15 44,000 asaM#
6 || 02.16 1,440 2™ 22 (CMS)
7 2 aly| 02.18 10,000 AIRZ2 AQE Q|
8 = GH| 02.18 10,000 SHLI2HUMS =42
9 2 aly| 02.23 43,900 AIRZ2 AQE Q|
10 || 02.26 5,600 2P| ™ 22 (CMS)
11 23| 02.26 48,400
S 2
1 29| 02.19 45,600 R ETE]
2 29y| 02.19 500 O mHFAH|
SHA| 283,954
2HUE XE WY
= | Argux| sz 4gg | AFE A Hl 2
8=
TN =9 XE
Zhot 5 ¢ 5 X&E £l
7,012,157 903,940 283,954 7,632,143




FEHYSHR| 20211 03Y 2 U X|Z LHYA
383+ WY
el sz P& ke Hl 2
2 CMS 2 &&= 978,640
SHA 978,640
SYUE 29 LY
o [gMax] SAEU8 | fEyEel  [4g3d] daD
gl
. 293 XE Yy
=[xz 72| x5y B H| 2
1 22| | 03.02 52,700 KT EAlZ
2 SdH| 03.03 712,120 MEESEH
3 Zt2|H| 03.08 2,340 22| ™ =7 (CMS)
4 22| H| 03.08 18,392 A= CMS
5 24YH| 03.10 1,000 UMS =&
6 = ZH| 03.10 3,400 AHR S Bl EH|
7 22| | 03.15 44,000 2SANY
8 22| 03.16 1,580 22| ™ 222 (CMS)
9 24YH| 03.23 36,410 7|EfAENEE
10 24H| 03.23 4,660 HOIN HE
11 24YH| 03.23 990,000 M| S AHH|
12 2 gH| 03.23 460 NG
13 k2| H| 03.23 16,620 AR MI|2
14 S dH| 03.23 5,700 AR ARE Q)
15 k2| H| 03.26 5,880 ZE|™E =5 (CMS)
16 S dH| 03.30 28,000 AR ARE Q)
17 24YH| 03.30 46,638 182Xz ez
18 S dH| 03.30 75,000 AR AR E HiSH|
5232
1 S dH| 03.22 50,000 AR ARE Q)
2 24YH| 03.23 291,550 AMNEZ2 22 1Y
SHA| 2,386,450
SYE XE Yy
= | agux|  sazgyg | AFEH | Hl D
3ls
R
ol 5 +9 5 Xz Xt
7,632,143 978,640 2,386,450 6,224,333




